FINMEAEXRZESAI7—EVTRFHEXR (2022/HEBE)

BALT—TIL[2REER]
KA LT—TIERBEOETICE>TERICHZBEANTEVET DT, HoHMLHIT T RIS,

2022/9/16 7
1BHE 202249R24R(L£) (HDOH5:27 BN A17:34)
$—JTYFA $—2IU7B E—FIU7¥
el EE4 BAtR [ A=E Ly EE4A
6:30 | REEFER/RITERSR
6:50 |HRZAT
700 |BHEREI—TA4UY B
8:00 [E—FT (2km) (BF) Fi#
845 |E—FISvIR(BF)Fi&
9:15 |[FR—FL—X (&F)FE 9:15 |R—FL—X(&F) F:&
10:35 |/R—RL—R (BF) Fi# 10:35 | R—FL—X (BF) F:& 10:35 |E—F 7597 R (&F) Fi#
1135 [E—F 7597 R(BF)2RF#
11:50 | H—JRF—L—R(BF) F& 11:50 | —TJRF—L—X(BF) F:&
12:00 | (BKER) 12:00 | (BIKER)
12:35 | (BIRER)
12:50 |H—DJL—R(XF) T 12:50 | H—TL—R (&F) F:&
13:05 |4 —JL—R(BF) T 13:05 | —JL—X (BF) F:&
1320 |E—F 7595 R (&F) R
13:50 |R—KL—X (BF) 2K F:&E 13:50 |[fR—FL—R (BF) 2R F:E
14:15 |R—RFL—X (&ZF) 2R F:& 14:15 |IR—FL—R (& F) 2R F:2 1425 |E—F 59T R (BF) ERE
14:45 | —JL—R (B F) iRB 14:45 | —JL—R (&F) ik
15:20 |E—FI5vJ R (XF-BF) iRk
15:15 |FR—RL—R (B F) iRk 15:15 | IR—FL—X (& F) %R
1555 [H—JRE—L—R (5F) iRES 15:55 [ —ITRF—L—R (X F) R
16:20 |FR—RL—R (BF) kR 16:20 [FR—FL—R (& F) iR
16:50 |E—F 5> (2km) (& F) RE
17:05 |[E—FF (2km) (BF) iRB
17:20 |FREHRT P E
28 E 202249R258(H) (HNDH528 HMDOA17:32)
H—2JITYFA #+—2J17B E—FTIU7
el A=k el E=ES e =k
6:30 | REEFER/ETERESR
6:50 |HRRSAT
700 [FHEEES—T17 B
8:30 |[A—Ivivr FiE 8:30 |A— vy FiE 8:30 |E—FRTUUM&F)FE
850 |[E—FRTULMNBF)FE
910 |[LAF21—Fa—TLAFa2—(XF)F&E | 910 |LRAF21—Fa—TLRAF21—(XF)Fi&
9:25 |LAF21—Fa—TLRAF2—(BF)FE | 925 |LRAF21—Fa—ILRF21—(BF)F:&E
940 |E—FYL—(XKF)Fi&E
950 [E—FYL—(BF)F:&
10:00 |FR—RFLRFa1—(&KF)Fi 10:00 | R—FLRF21—(BF) F&
10:30 [E—FRTUU(BF) 2R T2
1050 |[A—vvoL— FiE 10:50 |[A—>vowol)L— Fit
11:05 [E—F AT+ (X F) iR
11:15 [E—=FRTUU (B F) EiR
11:25 |[A—Sv—<> R 11:25 [ A—Svovy R 11:25 | (BIKEE)
11:45 |REXD 4—IL—R-HY—ITRX—L—R-KR—FL—R-E—FITF595 R -E—FF2(2km)
12:20 |[E—F R T2 (XF) R
12:25 |E—F XTI (BF) R
12:45 |LRFa1—Fa1—TLRFa1—(&F)RE | 1245 |LRAF21—F1—TLRF21—(BF)RE
13:15 |FR—FLRFa1— (& F)iRE 13:15 [FR—FLRF21—(BF) R
13:25 |E—F)L—(&F) iRk
13:30 |[E—FUL—(BF) Rk
13:45 |[A—v—< U L— R 1345 |A—> v L— R
14:20 |3 X TkmE—F 2 L— (& F) iR
14:50 |3 x TkmE—FFU)L—(BF) iRE

15:20

RERQ +—Pvo)—IU/F—Ir R E—FRTYUb LAF1—Fa1—TLRAF 21— R—FLRAF 21— E—FYL—F—1roI)—IUL—/F— vV L—-3 X lkmE—F 5oL —




